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200 M2l
2 210 3 EAM Y
gt 216 Ol Kt==2 EEREE
g-2-8.5 Ofl & oH HE 0l At Husz
&5 Al 427,955 393,694 34,261
200 M2+ 3,000 3,000 0
210 Y HAN A+ 1,000 1,000 0
216 OlXt==& 1,000 1,000 0
21601 S30=01kt+¢ 1,000 1,000 0
< L QIEOHRI DY > 1,000 1,000 0
Oflzg 330= 0lA =g 1,000,000& 1,000
220 SAIEAI2I 2= 2,000 2,000 0
224 J|Et=¢ 2,000 2,000 0
224-07 12+ 2,000 2,000 0
< L QIEOHRID > 2,000 2,000 0
ORgllsss =¥ 2,000,000& 2,000
50 BEx3 424,955 390,694 34,261
510 2NExX3S 339,963 312,555 27,408
511 3 1EX38 339,963 312,555 27,408
511-01 =18x=3 339,963 312,555 27,408
< L QIEOHRI DY > 339,963 312,555 27,408
O2HEXE a2 339,963
O2ASSHU AR X 339,963,000 339,963
520 Al - SHIEZZE 84,992 78,139 6,853
521 Al - EHIBZZ2S 84,992 78,139 6,853
521-01 Al - SHIEXEZS 84,992 78,139 6,853
< L QIEOHRI DY > 84,992 78,139 6,853
O=SXHE= a2 84,992
O2AZSHU AR X 84,992,000 84,992




